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Q.No: 1

2406213 Large value of equilibrium constant (>10°) shows is favoured while low value of

equilibrium constant (<10-*) shows is favoured.

Ticlelel TE2ish ol =T AT (>10°) G2flarg ok IHeTehel g Selfeh Hclelel TEUTeh ol felaet
1 (<10 Gafarg & Helhel gl

forward reaction, backward reaction

3 3t ufafear, uy ufafsar

forward reaction, forward reaction

3 Y ufdfssan, em &t ufafsar

backward reaction, backward reaction

uy yfafsear, gy ufafear

backward reaction, forward reaction

Ty ufafsear, 3m o1 ufafear
Correct Ans : A

Subject : Chemistry

.No: 2
34005220 Choose correct relation between K and K in C+ D2 A+Biand 24+28= 2C+2Di -

K. 3R K &dad C+D= A+Bi 3R 24+28= 2C+2Di eI HI Toi-

K =K.K =K
A
K =K.k =K*
B 1 :
K,=—.,K, =K’
K
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Kczi=Kc:KJ
K
K =K.K =K
C
K =K.K =K
1
K,=—.K =K
(1 K-' [ \!—
D
1
K,=—.K, =K
- LrE

Correct Ans : B

Subject : Chemistry

Q.No: 3 Choice correct statements

2406226
(i) State of equilibrium gets disturbed by using catalyst.
(ii) To establish chemical equilibrium none of product is allowed to escape.
(iii) Reaction is still reversible if any one of product formed separate out as solid.
(iv) Equilibrium has a dynamic nature.
el YT I
(i) SIRF F IudT § Ugad F AR s ot 31
(ii) ITAfE Yo R B F e et +ff Iare @1 aeR e ot ergAfy 76 81
(iii) ufafsrar anft off Iepaviia § i HI U IaE 39 & U T (e 81 1T
(iv) g P T T wpfd At 31
(i) and (iv)
A
(i) 3 (iv)
(i), (ii) and (iv)
B
(i), (i) 3R (iv)
(ii), (iii) and (iv)
C
(i), (iii) 3R (iv)
(ii) and (iv)
D
(i) 3R (iv)

Correct Ans : D

Subject : Chemistry
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Q.No: 4  Choose incorrect statement:

2406246
(i) If reaction takes place at constant volume, addition of an inert gas will change molar concentration of products and
reactants.

(ii) If the reaction takes place at constant volume, addition of an inert gas will not change molar concentration of products
and reactants.

(iii) If the reaction takes place at constant pressure addition of inert gas will increase total volume.

(iv) If reaction takes place at constant pressure, addition of inert gas will decrease total volume.

TEd HU T

(i) e 3iftifepar fRR omaa R Bt ], N T 31y A F T A IAIST SR RIPRS! P 3G Fisal Iaat S|
(i) T i RR s W a6t 3, @ ofpa g fAem A SUrE! 3R sfieRs! ) Hier Tigar el sgent
(iii) g ififerar RR 3@ R AR & N oifra 9 F 91 X Fa omga & gfS gt

(iv) T Sifiifrar fRR g™ | Bt 3, o 3iftha 19 & AT I Fa SRIa B g SIe|

(i) and (iii)
A

(i) 3R (iii)

(i) and (iv)
B

(i) 3R (iv)

(ii) and (iii)
C

(i) 3R (iii)

(i) and (iv)
D

(i) 3R (iv)

Correct Ans : B

Subject : Chemistry

Q.No: 5 Radioactive decay is and example of

2406283
et e T IaTeRr 8
Zero order
A
T Pl
First order
B
T Pife
Second order
C
fadamife
Third Order
D
g ife
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Correct Ans : B

Subject : Chemistry

Q.No: 6 ) ) ) 234 .
2407252 The radioactive muclide ool # shows 2 successive f decay followed by one «_ decay. The

atomic number respectively of resulting atom is:

et =yFerss 5, Th 2 #Ew Par 3k 30% ag ve o g gafiar &1 aRorrE
RHTUT ST heTRl: SRAV] Haieh -

94 and 234
A

94 3R 234

90 and 230
B

90 3R 230

92 and 230
c

92 3R 230

92 and 234
D

92 3R 234

Correct Ans : B

Subject : Chemistry

Q.No: 7  Calculate frequency of photon emitted during transition from n=4 state to n=2 state in hydrogen atom.
2407413

BRSO TRATY H n=4 3GRMT ¥ n=2 R § GHAY & GRM IJfId Wi B SAgRT B T0MET H1
2.053x104 5!

A
2.053x10M4s!
-2.053x1014 g1
B
-2.053x1014 g1
2.053x108 5!
C
2.053x108 5!
-2.053x10M &1
D

-2.053x10% g1

Correct Ans : A
Subject : Chemistry
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Q.No: 8  What are the values of subsidiary quantum number for n=3?
2407416

n=3 % o0 TS HicH JB & A HT &2

0,1
A
0,1
0,1,2
B
0,1,2
-1,0,1
C
-1,0,1
-2,-1,0,1,2
D
-2,-1,0,1,2

Correct Ans : B

Subject : Chemistry

Q.No: 9  In which of the following molecular weight determination methods sensitivity of the measurements decrease with the
2408107 jncrease in the molecular weight of the solute

fofafea & & foa smufaw YR Fufor el & fada & smoifas UR & 3fe & 1y A0 & Jae-=iadr &0 g1 ot §

Viscosity
A
PEIEGIE
Osmotic pressure
B
URTEROT <1
Elevation of boiling point/depression in f. point
C
TS P HAR/ £ g # eqwg
Volume
D
SIEGE)

Correct Ans : C

Subject : Chemistry

Q.No: 10 Van’t Hoff Factor for abnormal molar mass
2408108

S HIeR Go89H & oY i 81 thaer

A i= Normal molar mass/Abnormal molar mass
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i= MR AITR So0HF/ SR Hia) S

i= Observed colligative property Calculated colligative property

B
i= féra e o/ aRefia durfe qor
i= Total number of moles of particles after association/dissociation Number of moles of particles before
association/dissociation
C
i = WU/ GUTHRO & 91E HUI & T Bt ol GO T9/JUFPIU ¥ Ugd HUI & Hid $I G&
Abnormal molar mass cannot be calculated
D

MY HieR oM &Y TUMAT el P S Febait

Correct Ans : D

Subject : Chemistry

Q.No: 11 The energy that helps dissolution of solute into water
2408114

Ig Sl off faeT & oI | gor § gerddr axat

Lattice Energy

A
STl Seit
Exothermic Energy
B
FHEAR ol
Hydration Energy
C
Serie el
Ionisation Energy
D

SR SHol

Correct Ans : C

Subject : Chemistry

Q.No: 12 What is the reason for the deviation exhibits by solution from Raoult’s law ?
2408136

A3 F AW I I gRT faae &1 RO 1 82

Temperature
A
G
Concentration
B
g
C Nature of Interaction at the molecular level
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SUIIP TR W WRER fohdl &1 W& Y

Volume

ST

Correct Ans : C

Subject : Chemistry

Q.No: 13  Which order is correct in spectrochemical series of ligands?

2408803
RrveT # Wed) Tarafie ol &1 9 HHE -
Clm <F~ <Cy042~ <NOy~ < CN-

A
Cl- <F~ =Cy042~ =NO;~ < CN-
CN- (042~ <Cl- > NOy~ <F-

B
CN™ =04~ =ClI~ > NOy~ <F~
Cy042~ <F~ =Cl~ >NOy~ <CN-

c
Cy042~ <F~ =Cl~ >NOy~ <CN-
Fmr <Clm =NOy~ < CN—<C2042‘

D

F= <Cl” <NOy~ =CN™ = C2042‘

Correct Ans : A
Subject : Chemistry

;2-'\33819134 How many P—O bonds and how many lone pairs respectively are present in P,O, molecule -
4 7

P,0, 3] & fahdet P-O 3R fohaet Uahet oot Faver: 3uTurd -

12,4
A

12,4

8,8
B

8,8

12, 16
C

12, 16
D 12,12
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12,12
Correct Ans : C

Subject : Chemistry

Q.No: 15 Ammonia reacts with Nessler’s reagent to give -

2408938
ST, AR SfiEH® F fordT b < § -
Deep blue precipitate
A
TRRT el 38
White precipitate
B
A a8y
Green precipitate
C
T @8
Brown precipitate
D

W Sa8T
Correct Ans : D

Subject : Chemistry

Q.No: 16 Liquid ammonia is used in refrigerators because -

2408939
%d ST $T ITN U=fiad! & gl § i -
It has high dipole moment
A
o1 foya smgefl 9= gl 31
It has high solubility in water
B
7 e & ot gerRiar e 31
Of its basicity
C
7€ &g e 81
It has high heat of evaporation
D

Y@ AT B Huf 3 gt gl
Correct Ans : D

Subject : Chemistry

Q.No: 17
2408964
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In OF7 molecule, the total number of bond pair and lone pairs

of electrons present respectively are-

OF , U] # SUTE SeIael=l o T YIA 2T Uehlehl JaH chl ot HIAT HAM: § -

2,6
A

2,6

2,8
B

2,8

2,10
C

2,10

2,9
D

2,9

Correct Ans : B

Subject : Chemistry

3'4'\#;01480 The number of 3d-electrons remained in Fe?* (At. no. of Fe=26)is —
Fe2+ (Fe ®T Y<ATY ®H1% = 26) A4 & 3d- Fardini T dedr 2ol —
4
A
4
5
B
5
6
C
6
3
D
3

Correct Ans : C
Subject : Chemistry

2'4'\(‘;;01491 Ammonia forms the complex ion [Cu(NH,),J* ion with copper ions in alkaline solutions but not in acidic
solution. What is the reason for it —
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ST, @i faeras | w0 A=) & 919 FE6T [Cu(NH,) J» TFa sra F97d7 g, |1 w14
ak‘qi ﬁ-ﬂﬁ|ng.l HT® :\U%'

In an acidic solution, hydration protects copper ions

A
3ty faera #, Sedior, $IR 3MEH Bt & HAT § |
In acidic solutions protons coordinate with ammonia molecules forming NH,” ions and
NH; molecules are not available

B
A g [Eegel 5, T2, AFAAT ST & A0 Iuagaag 2% NH,» F97d 2 T8 NH, A |31
o I9TeH Tl gl uTd |
In alkaline solutions inscluble Cu(OH), is precipitated which is soluble in excess of
any alkali

C
AT Taegel §, Aiaeq Cu(OH), AFUTIT g1 =mar g =1 Tt o7 < &1 Af®war 5 =g 2
Copper hydroxide is an amphoteric substance.

D

PR FRFAES, T Iyaydf uard R
Correct Ans : B

Subject : Chemistry

Q.No: 20 ~
2409050 In Fe(CO)., the Fe—C bond possesses

Fe(CO),, & A9 § Fe-C ¥ 3ufdad g -

Ionic character

A
e &0
o-character only
B
Fad 0- 7
m-character
C
FaA M- T
both ¢ and = character
D

BRI IEE

Correct Ans : D

Subject : Chemistry
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Q.No: 21 A primary alcohol on oxidation:
2409136

TTUfe Yehigid SHTaRiidRu W

Loses only one a—hydrogen

A
A U o—gIZS o ANTar g
Loses no a—hydrogen
B
TS oIS Agl ATTAT &
Can lose both a—hydrogens
C
SRS EE EL R IR G I
Can lose one a~hydrogen or both a~hydrogen atoms
D

UH oIS rad AT 241 o~ FIES o AR %l g

Correct Ans : D

Subject : Chemistry

Q.No: 22 Which of the following is not a common oxidant for alkanols:
2409137

fufafad o I oI Teplglal & o I SiRfieR® &l §:

Heptavalent manganese

A
HUSEIEIRE
Hexavalent chromium
B
FARIAISH HiftEH
Tetravalant manganese
C
Torh Fe
Chromium trioxide in acetic acid
D

THifes o # wIfFTH T SHigS

Correct Ans : C

Subject : Chemistry

Q.No: 23 When propyne is heated with aqueous sulphuric acid in the presence of mercuric sulphate, the major product is :
2409179
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9 IRagRed Tebe B Iufufa & tiurga & foran oefia Iewgfie onet § HR1E U of 7T IdTg g -

Propanal
A
FIEEKH
Propyl hydrogen sulphate
B
M TRSIeH Fetbe
Propanol
e
CIECIKH
Acetone
D
LG

Correct Ans : D

Subject : Chemistry

Q.No: 24 Pparaldehyde is :

2409180

WRUEETES &

A timer of formaldehyde
A

B cSeIRS $1 Pas

A trimer of acetaldehyde
B

RS o1 fes

A hexamer of formaldehyde
C

B STIRS P V60D

A hexamer of acetaldehyde
D

TifREeTES P Yous

Correct Ans : B

Subject : Chemistry

Q.No: 25 Hypnotic drugs named sulphonals can be manufactured by which of the following reactions :
2409201

Tepa T FEert iufE o1 Fafor Fafafaa 3 3 feg siftifsrar grr i s 9o &:

Carbonyl compound + alcohol > A —9
A
PraiFe Wig + Tepigld ——> A —01
B Carbonyl compound + Thioalcohol > A —81
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oTal-a A + Yralebigial 5 A —I0]

Ketone + Phenylhydrazien ———

FIeH + BRITREST —

Aldehyde + Baryta water ———

Ufceggs + g od —

Correct Ans : B

Subject : Chemistry

Q.No: 26 Nucleus in the cells was discovered and named by -
2403462

PIRBTH B B DI WIS T AHHROT fbar -
M.J. Schleiden

A
TG, Wi gRI
Louis Pasteur
B
T UL GRI
Robert Brown
C
e S GRI
Robert Hooke
D

I §F GRI
Correct Ans : C

Subject : Botany

Q.No: 27 J.E. Purkinje coined the term-

2403463
3. 3. QR 7 2eg fean
Nucleus
A
Erg
Protoplasm
B
MeIreH
C Mitochondria
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BIECEa |

Chromosome

BN

Correct Ans : B

Subject : Botany

Q.No: 28 Which of the following is basic stain used for staining cellular structures?
2403464

el § § o 91 sfRee SIS TaT &) SRR $3 & TN gidr 872

Methylene blue

A
[LEISRE
Eosin
B
g3
Orange G
C
et ot
Fast green
D
BRe UH

Correct Ans : A

Subject : Botany

Q.No: 29 Thickness of specimen used in electron microscope is -

2403465
et geasl § ufrey # eré vl §-
l1cmto2cm
A
1 9., - 2 3.8,
5 mm to 10 mm
B
5 fat - 10 ot
1 mmto5 mm
C
1 ot - 5 fodt
10 nm to 100 nm
D

10 7.4, - 100 3.7,
Correct Ans : D

Subject : Botany
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Q.No: 30 Rough Endoplasmic Reticulum (RER) are found abundantly in those cells which are active in
2403466

I eI YeHad 3 HRpTe ¥ ggr 7 & U W B, S 9iehy 8-

Lipid metabolism

A
foftrs Sur=a &
Protein synthesis
B
WA dxawor
Carbohydrate metabolism
(®
FEleRge SUTad ¥
DNA replication
D

3. . e E
Correct Ans : B

Subject : Botany

Q.No: 31 During cytokinesis is, cell plate formation occurs due to -
2403467

FIRBT fFUST F TR, HIRBT We o7 FHiur fruds SR S &-

Golgi body
A
et
Mitochondria
B
At
Endoplasmic reticulum
C
CernfoR Ypam
Nucleus
D
Cg-cd

Correct Ans : A
Subject : Botany

Q.No: 32 Main structural protein of microfilaments is-
2403473

ATSHIharic BT T TS W 8-

A Histone
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o=

Tubulin

TR

Actin

THfed

Globulin

Tl

Correct Ans : C

Subject : Botany

Q.No: 33 During which stage of meiosis did chromosome number are halved?
2403487

S fauTeT #Y 5 srawn & ol Bt e sneht g1 STt 82

Anaphase-1
A

Tho-1

Metaphase -1
B

Terhel-1

Metaphase -11I
(e

AeThel-11

Telophase -I
D

TARB-1I
Correct Ans : A
Subject : Botany

Q.No: 34 Terminalization is a process related to -

2403488
afer Y fapar weifera 2-
Mitosis
A
TG faHre ¥
Gametic meiosis
B
QD G faHeH §
C Cytokinesis
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DIRMDT 51 faure

Diakinesis

SADHRARY

Correct Ans : B

Subject : Botany

Q.No: 35 Replication of DNA, during cell cycle occurs in -
2403491

HIRADT b B fbg w1 § €. T T. FGIuH gher 8-

G1-phase
A
G1-3ERIF
S-phase
B
S-3a |
G2-Phase
C
G2-3aRI #
M-phase
D
M-3Ryt &

Correct Ans : B

Subject : Botany

Q.No: 36 Inheritance of skin colour in man is-

2403496
T B @ & T BT IAHA ©-
Polygenic
A
qgolit
Trigenic
B
EIE]
Bigenic
C
feoft
Monogenic
D
Thel Sil

Correct Ans : A
Subject : Botany
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Q.No: 37 The dihybrid test cross ratio is -

2403497
3R TS0 THRT BT 3T 3-
9:3:3:1

A
9:3:3:1
1:1

B
1:1
1:1:1:1

c
1:1:1:1
3:1

D
3:1

Correct Ans : C

Subject : Botany

Q.No: 38 A cross between a heterozygous individual and a recessive parent is called as-

2403501

o Tt fawrgaeh &1 SruHTel S & |1y el Bl 8, 98 HEAN -

Monohybrid cross

A

UHHPHR YHUl

Dihybrid cross
B

fadax G

Test cross
(o

TR0 HHRUT

Back cross
D

Ylig HehRur

Correct Ans : C

Subject : Botany

Q.No: 39 Mendel’s laws were rediscovered by-

2403502

https://mppeb.cbexams.com/MPPEB_LIVE_Nov_2021/MPPEB_Objections_Nov_admin_Panel_2021/Final_Model_Answer.aspx

18/48



1/12/22, 3:33 PM https://mppeb.cbexams.com/MPPEB_LIVE_Nov_2021/MPPEB_Objections_Nov_admin_Panel_2021/Final_Model_Answer.a...

Hed & Fgdl Bt g1 @l B TE-

Correns, Tshermak and de Vries

A
R, e @ S A
Jacob and Monod
B
Sield Td 1S A
Watson and Crick
C
CISERCREZ A
Nirenberg , Matthae and Khorana
D

Fiead, AUt vd g A
Correct Ans : A

Subject : Botany

Q.No: 40 Termination codon is-

2403504
AT (efifAeE) FisH §-
GUG
A
GUG
UAG
B
UAG
AUG
o
AUG
AAU
D
AAU

Correct Ans : B

Subject : Botany

Q.No: 41 Co-repressor in tryptophan operon is -

2403512
eI SIIRA & $1-RIRR &7 H1f Hl @8-
c AMP

A
c AMP

B Ecdysone
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TSI
Lactose
C
AT
Tryptophan
D
fediem

b

Correct Ans : D

Subject : Botany

Q.No: 42 How many structural genes are present in lac - operon?

2403513
AP -SRI & frd= IReIS ofF BId 82
2
A
2
3
B
3
5
C
5
7
D
7

Correct Ans : B

Subject : Botany

Q.No: 43 Exons and introns are found in -
2403514

T 9 3¢ UA 91 8-

Eukaryotic gene

A
geiRaRfes T &
Transcribed m-RNA
B
T@HRd m-RNA &
Prokaryotic gene
(e
MeRAfeE o &
D RBCs
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RBCs &

Correct Ans : A

Subject : Botany

Q.No: 44 Viruses that parasitize the bacterial cells are called -
2403517

Sitary PiReTef § uReld & w9 H 57 aTt fawg B 8-

Viroids
A
RIS
Serovars
B
R
Prions
C
o=
Bacteriophages
D

Sitaropueft
Correct Ans : D

Subject : Botany

Q.No: 45 D. Ivanovski (1892 ) discovered-
2403518

31, SaFRP (1892) 7 WS -

PPLO
A
H.de. off. @t
TMV
B
A A A
HIV
C
. 3. . Bt
Coronavirus
D

PRAMER Bt

Correct Ans : B

Subject : Botany

Q.No: 46 ‘Amphibians of plant kingdom’ are known as -
2403522
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ey ST &1 IHTER HgT il o-

Bryophytes

AR Bl

Algae

a1 B

Pteridophytes

REBRCH DY

Fungi

HaH B
Correct Ans : A
Subject : Botany

Q.No: 47 Lichen is symbiosis between -

2403523
3P fPaP g Tgolia &-
Bryophyte-Algae
A
STIBrEe-aTe
Fungi- Algae
B
Fa%-a1a
Soyabean - Rhizobium
C
rre-IEsifany
Virus- Algae
D
faTg-Sarer

Correct Ans : B

Subject : Botany

Q.No: 48 Which one is a aquatic pteridophyte?

2403524
e 7 3 B 1 oefty 2RSwTEe 32
Pteris

A
R

B Equistum
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TeiNen
Lycopodium
C
TFHINSTH
Azolla
D
oo

Correct Ans : D

Subject : Botany

Q.No: 49 The edible part of coconut is -

2403536
G T @I =T Bl 3-
Endosperm
A
ordy
Endocarp
B
3fd: Bardf
Mesocarp
C
AL e
Epicarp
D
EIGRIBIS]

Correct Ans : A

Subject : Botany

Q.No: 50 Collenchymatous hypodermis found in -

2403539
REDIUN SfeEdT Urdl oI -
Monocot stems
A
T sieuEt o
Dicot stems
B
[ECISLEIE]
Dicot roots
(e
faditereht 7@
D Monocot roots

https://mppeb.cbexams.com/MPPEB_LIVE_Nov_2021/MPPEB_Objections_Nov_admin_Panel_2021/Final_Model_Answer.aspx

23/48



1/12/22, 3:33 PM https://mppeb.cbexams.com/MPPEB_LIVE_Nov_2021/MPPEB_Objections_Nov_admin_Panel_2021/Final_Model_Answer.a...
& el 7a

Correct Ans : B

Subject : Botany

Q.No: 51 From the following options which one is respiratory spiracles in cockroach
2403219

Frafifed el §f ¥ Bieia o1 HIF 91 Tau WEeHd ¢

Tracheoles
A

ECIER

Stigmata
B

e

Crop
C

Eal

Gizzard
D

s

Correct Ans : B

Subject : Zoology

Q.No: 52 Where nerve ring is present in cockroach central nervous system
2403220

BT P Hg df¥eT a3 H dfEer gou 1 SufRid B

Gizzard
A
g
Around the oesophagus
B
YrETel & IR R
Around the colon
C
Pl & IR WP
Pharynx
D
PLE]

Correct Ans : B

Subject : Zoology

Q.No: 53 Which one of them is present only in male cockroach.
2403221
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0 ¥ B I Had R Hleg § IufRd g

Anal style

3T ©I_A

Colon

Pl

Labium

SIEDE]
Nephridia

AfefEan
Correct Ans : A
Subject : Zoology

Q.No: 54 When red flower is crossed with white flower, pink colour flower appear in F1 generation, what kind of Inheritance is this.
2403222

e o1 Bl Q b Bl Bl 1Y a1 W1 ¢ dl Tare 1 B o F1 W § w3 €, U8 59 UbR $1 dxrgHH 2

Multiple allelism

A
Heeiw Sfedifore (Sgg™ faebeudn)
Polygenic inheritance
B
uieiiefe dergea
Incomplete dominance
C
3quf yTfaar
Pleiotropy
D
afersicidt

Correct Ans : C

Subject : Zoology

Q.No: 55 Immediately after replication which of the following protein plays a substantial role in linking together sister chromatids.
2403224

TPl & qXd a1g FEffed & 3 o1 a1 UidH R $1afes 3 @ 9y S § geayyl yffeT Fvid ¢

Histone
A

e
B Fibrin
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GRS

Collagen
C

CaREE]

Cohesins
D

BRRA

Correct Ans : D

Subject : Zoology

Q.No: 56 Which enzyme is produced by gene 'Z' in lac operon.
2403242

AP MR A o9 '2' gRT S 1 TSzH IS4 gidl 2

Transacetylase

A
ERMEEECE]
Permease
B
s
p-Galactosidase
C
p-Heararfass
Transferase
D
LA

b3

Correct Ans : C

Subject : Zoology

Q.No: 57 In which process fertilized egg divides.

2403247
e uferan & FfRra sreT fawnfra i 21
Regeneration
A
Clevage
B
Regeneration
C
EUHCGET
D Retrogression
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U™
Correct Ans : B

Subject : Zoology

Q.No: 58 Covering of the blastomere by the uterine wall is called.
2403251

AR B THIRE BT SR ¥ b Bl 1 Hed gl

Cleavage
A

EEOCH

Meiosis
B

ST

Implantation
C

JRIqur

Laetation
D

[SEAE]

Correct Ans : C

Subject : Zoology

Q.No: 59 Which blood is rich in stem cells.
2403252

wH P Fefifed # § 5 & urn s &)

Umbilical cord blood

A
sifefrfea Bis e
Lymph fluid
B
il &d
Bone marrow blood
C
Ry FwSlT Tekd
Cellular blood
D

QQFR Y
Correct Ans : A

Subject : Zoology

Q.No: 60 Which stimulant is injected to increase contractions of uterine wall to induce delivery in human.
2403253
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g T U9d & URd B4 & o Ui @1 IR & ST &l gem & O B ST BT Soia=H Il Wil g

Oxytocin
A

iR

Methionin
B

EIRuIEiC]

Globulin
C

Tl

Fibrin
D

BrEfSA

Correct Ans : A
Subject : Zoology

Q.No: 61 Milk which contain many antibodies produced during the initial few days of lactation is called.
2403254

R & RSN AT H S gy ST § 98 UCITISISl § MW 8l 3, 39 T Hed o

Serum
A

A

Relaxin
B

e

Colostrum
C

PIeGH

Plasma
D

TITSHT

Correct Ans : C

Subject : Zoology

Q.No: 62 From which part of animal body insulin were obtained in early days
2403256

Ugd & 99 B JFaR & fohg offT I ggfer vre fosar S o

Pancreas of cattles and pigs

Tzl 3R YR F IR

B Intestine of cat
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foreett Y sifa
Stomach of sheep
C
s & SMRE
Intestine of pig
D

FoR @t 3ffq
Correct Ans : A

Subject : Zoology

Q.No: 63 World first vaccine was discovered by

2403257
faza # ugan <ot fpuds gRT @ren T
Alexander Fleming
A
el S TRAfHT
Edward Jenner
B
LEESAREN
Tim Hunt
C
ferge
James D. Watson
D

o &Y, arewd

Correct Ans : B

Subject : Zoology

Q.No: 64 Against which disease the first Gene Therapy was given.
2403259

S fafeen &1 uaiT ugelt IR 59 A & e fasam man

Acquired immune deficiency syndrome

A
TaarE SRS Righ
Severe combined immune deficiency
B
Autoimmune lymphoproliferative syndrome
C
3iergr fermiviferefed Rigw
D Primary Immune deficiency disorder.

https://mppeb.cbexams.com/MPPEB_LIVE_Nov_2021/MPPEB_Objections_Nov_admin_Panel_2021/Final_Model_Answer.aspx

29/48



1/12/22, 3:33 PM https://mppeb.cbexams.com/MPPEB_LIVE_Nov_2021/MPPEB_Objections_Nov_admin_Panel_2021/Final_Model_Answer.a...
WA SR SRRt fewsidR
Correct Ans : B

Subject : Zoology

Q.No: 65 What are the various prevention measures taken for normal organisms from transgenic organisms to stop any biohazards.
2403263

cigaife Sffal % HRO AR Sial & forg forddt +ff ariieae &1 A & fore faft=1 Asvum & Iury 1 B

Bioreactor
A

TRRTERR

Biopatent
B

sENde

Biopolymer
C

Saga®

Biosafety
D

TR

Correct Ans : D

Subject : Zoology

Q.No: 66 Capacity of a cell to generate a whole new plant is known as
2403267

TH HIRIHT F TH QR 1 U1 IT= B B & P FT 8

Micropropagation

A
geAvads
Totipotency
B
PIRBIY Yor=TaRIar
Microarrary
(®
3fgaifRe fau
Somatic embryogenesis
D

AP Yo
Correct Ans : B

Subject : Zoology

Q.No: 67 Which one is not a household preservation technique.
2403274
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TH ¥ I WU dh1db B Al el Bl

Lypophilisation

A
SIERIEAER |
Dehydration
B
fefeftezor
Sugaring
C
== gRT
Salting
D
YR gRI

Correct Ans : A
Subject : Zoology

Q.No: 68 Which is a freeliving fungi and is a effective biocontrol agents of many plant pathogens.
2403275

98 ¥ B 1 gad Sifdd Bas & O s drel & IesTeb! 3 g gurdt S FrE weie 1

Paenibacillus polymyxa

A
-fiefere e
Bacillus Subtius
B
ey wafefera
Trichoderma
C
TRPISA
Bacillus thuringiensis
D

Sufer yfeaeitray
Correct Ans : C

Subject : Zoology

Q.No: 69 Which free living bacteria fixes nitrogen under aerobic condition.
2403277

S I god Stifad Shary] argeidt saer & Argee & fRRR a1 |
Rhodospirillim

RS R RIS L

B Azotobacter
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LTI CE Y

Actinomyces
C

LiESR T

Clostridium
D

FeTH

b3

Correct Ans : B

Subject : Zoology

Q.No: 70 Which fitness was referred by Darwin for Natural selection.
2403279

igfaes T & 1T B9 &1 ey eifd grT deftfa 3

Biogeographical Fitness

A
Sa-1mifere frea
Health Fitness
B
Y e
Physical Fithess
(®
TR fhew
Reproductive Fitness
D

TS fheny

Correct Ans : D

Subject : Zoology

Q.No: 71  Which one is the correct equation of Hardy - Weinberg's principle.
2403280

grel-aart Rigid @1 98 Ifieru HF @1 8|

2 2
p t2pgt+tq =1

A
2 )
p +2pg+q =1
2 2
p -q =2pg
B
2 2
P -9 =2pg
¢ p+a=2pq
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ptaq=2pq
¥
p t2pg=1
D
5
p t2pg=1

Correct Ans : A
Subject : Zoology

Q.No: 72 Which one of the harmone is secreted by Queen of honey bees.
2403282

7Y R B IR F P A BTN wfAd g B

Bee venon
A

7Y T &1 faw

Trail Pheromone
B

A B

Nasonov Pheromone
(e

ARG BRI

Queen Mandibular Pheromone
D

T HfsgaR HAEA
Correct Ans : D

Subject : Zoology

Q.No: 73 Which of them is also called protein energy malnutrition.

2403297
0 ¥ fopd W1 Soit pUIvoT (PEM) H8d 71
Protein calorie marasmus
A
WEH SRt IR
Protein calories malnutrition
B
W Hart Fuwor
Protein calories kwashiorkor
C
W FaRt FaRERSR
Protein calorie malnation
D

WA St AezH

Correct Ans : B
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Subject : Zoology

Q.No: 74 Which one is the common symptoms of coronary artery disease.

2403321
BHRAL ML FEoiior &7 I o B A1 7
Sleeping disorder
A
A F
Loose motion and fatigue
B
YA AR yBH
Pain in chest, arms and lower jaw
C
BTelt, 9181 iR et wies & 7
Fever and headache
D

TER R RRed

Correct Ans : C

Subject : Zoology

Q.No: 75 Which of the protein is not found in muscle fibers.

2403326
et X & B9 A1 O e ur o g1
Connectin
A
P
Myocin
B
AR
Keratin
C
Hfe
Actin
D
Tfde

Correct Ans : C

Subject : Zoology

Q.No: 76 If radius of earth is 6400 km then what will be the height of transmitter antenna to cover television signal of area
2403810 yise radius is 128 km.

T gt o1 Bear 6400 et B, a1 ofifas Ra o oo 128 5t & &7 & 87 & o foa=t S &1 i Afven an sawas
gIm?
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A 1100 meter

1100 Hiex

1280 meter

1280 Hiex

640 meter

640 iR

32 meter

32 Hiex

Correct Ans : B

Subject : Physics II

Q.No: 77 In radio and television broadest, the information signal is in the form of-
2403811

e ok ferfas dwor &, gae Reet i wid § Teq 8-

Analog signal

A
T e
Digital signal
B
fforea Ryt
Both analog and digital
(@
T R fEfrea I
Neither analog nor digital
D

T 4 TrEnT 7 8 f3fiea

Correct Ans : A
Subject : Physics II

(224'\('%87188 The circuit shown in figure contains twodiodeD; and D; each with a forward resistance of 50 £ and with
infinite backward resistance of the batterv voltage is 6V, the cumrent through the 100 ) resistance (in
ampere)

D1 1500
D
4 500
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fAGER D, 3R D; cf s/iIs & fSarehr 3mr ufaier 50 Q e uea ufaRhr seea #1 afy d<i dieesr 6V

g ar 100Q 9far ¥ IR Al 9RT F A gEN- QFRR &)

Dy 1500
D
D2 50Q
< —wWwW—
ﬁl‘, 100Q
Zero
A
R
0.02
B
0.02
0.03
(o
0.03
0.036
D
0.036

Correct Ans : B

Subject : Physics II

Q.No: 79 By photoelectric effect, Einstein Proces that-

2403837
THTY-fdegd UHIT G S A Rig b &-
e = hv

A
e = hv
KE.=2mv?

B
KE.=2 mv?
E= mc?

C
E= mc?

b E =Rhc1
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Rhe?
E = z

n

Correct Ans : A

Subject : Physics I1

Q.No: 80 A photon accelerated from rest through 1 volt potential difference. Its kinetic energy will be
2403839

T Ier faRm g’ ¥ 1 diee fauaiaR gRT @Rd foran SITar 8, g1 TIfasl SHoll gil-
1840 eV

1840 ev

1eVv

eV

1340

eV
920

1 i
520

Correct Ans : B

Subject : Physics 11

Q.No: 81 In combination of two resistance in series, what will be similar resistance -
2403862

3 feRYel & Juft TaioH # yde ufoRiy H §HH g 8-

Only potential difference

A
Fad fvaiR
Only current
B
Fad YT
Current and potential difference
C
YRT IR fvaiaR =1
Neither current nor potential difference
D

T YRT 9 fAHaiR
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Correct Ans : B

Subject : Physics I1

Q.No: 82 4 length increase of copper wire 0.1% by pulling thenchange in its resistance will be-
2403863
Ife dfd & ush dX H dars DT 0.1% deT &1 ATl & al 361 afoRier 7 gfiad= grer-
(0. 2% increased
A
0.2% ¢
0.2% decreased
B
0.2% =3
0.05% decreased
C
0.05% =eam
(0.05% increased
D

0.05% 3¢9

Correct Ans : A
Subject : Physics 11

(22;1'\(])(;88635 Two cells in which em.f and intemal resistance are E;, 1, and E;, 1, respectively, are connectedin a
parallel. Its total equivalent em f will be-

gr do oo faarae g safie 9fader &H: ELn d Eun @, 99O &7 7 o 9T §,
3ol god fa.ange -

E, + E,
A
E, +E;
E, —E
B
E, —E;
c E;ry +E; T1
l'1+]‘2
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E;ro +E; 1

ry + 15

E; +E;

1"1+I‘2

+1:715

Correct Ans : C

Subject : Physics II

Q.No: 84
2403867
If color coding created to identifyv a carbon resistance in differeni color rings for resistance (37 £ 3.7) ki) then
color coding series will be-
(37 £ 3.7) ko 90w & B FEa 9y W ggEe & v [fee aut & gen sifea
R STa &1 aoT &5 &1 FA gET-
Yellow-green-violet-golden
A
Orange-violet-orange-silver
B
TRR-STR-ARR-gTEST T
Orange-yellow-violet-silver
C
FRR-dier-s-aidt &
Orange-violet-orange-gold
D

Correct Ans : B

Subject : Physics I1

Q.No: 85 A spring of force constant k is cut into two equal halves. The force constant of each half is-
2403870

k 51 Frardies &) T BT &Y &) sRIsR Il § die i3 o 8, ude ond R &1 5o Fadie ghm-

k
vz
A
k
V2
B
2
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k
2
k
c
k
2k
D
2k

Correct Ans : D
Subject : Physics II

Q.No: 86 Ty periodic waves move forman area with amplitudea; and a; respectively. If a; > a; then whatis
2403873 . ; ) e EEhes wt :
difference between maximum and minimumamplitude?

ar 3nadt avdr oed 3 a; 3R :f & &7 § TERdr 81 3 a3 > ap a1 sfwas sk
=AdH AT FT 3R b-

2ag
A
2ag
2ar
B
2ax
a; +a
C
a; +a
a;—a
D
a; —az

Correct Ans : B

Subject : Physics II

Q.No: 87 ) o
2403881 Ifa gas has ‘f° degree of freedom, the ratio = of the gas is-
v

a%ﬂaaﬁraa‘aﬁ%ﬁmgﬂaa:ﬁva@wm-
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A 1+fF

2

f
1+E

1
E+f

1
E+f

1+

2
1 —
+ f
Correct Ans : D

Subject : Physics II

Q.No: 88 The scientific principle involved in LASER is-

2403885
LASER & 391 frid AR &-
Newton law of motion
A
e ¥ T
Faradays law of induction
B
BRI &1 IR 31w
Coulomb’s law of induction
C
g &1 IR0 |
Amplification by population inversion
D

Yat gRT SFEE Hfaa
Correct Ans : D

Subject : Physics I1

24'\:)(;88896 The error in the measurement of the radius of a sphere is 1%. The error in the measurement of the volume
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afg; Tt aier $1 fzn &9w 7 3 1% 8. A1 39F 3a A9 & Fo 3 g

1%
A

1%

3%
B

3%

3%
Cc

5%

8%
D

8%

Correct Ans : B

Subject : Physics II

Q.No: 90 Which is the strongest fundamental force?

2403888
BT I G el Gd 99 8-
Strong nuclear force
A
U A1 g
Electromagnetic force
B
faqgd geoia @
Weak nuclear force
C
o B Id
Gravitational force
D

TEAHY §d
Correct Ans : A

Subject : Physics II

Q.No: 91 A rocket of mass m is released vertically upwards with an initial acceleration of ‘a’, the thrust on the rocket at lift of is-
2403898
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m SSOAM & TP Jbe Pl FWER FW BI 3R J YRS @R 'a’ I BIST AT 7, A TP SR Ia4 & W I STl

mg
A

mg

ma
B

ma

m(g + a)
C

m(g + a)

m(g - a)
D

m(g - a)

Correct Ans : C

Subject : Physics 11

Q.No: 92 An earth satellite is kept moving in orbit by the centripetal force provided by-
2403911

TS Y-IUUE BT U BT H gU (TR B &g SMP=IT § U Bl o8-

The burning of fuel in its engine

A

TAATAF T @

The hot gases emitted by the emitter
B

Isie gRT T I Seoi g1 &

The gravitational attraction of the sun
C

& R TEAG SHY §

The gravitational attraction of the earth
D

gt & GRT [EdA ATHY0T &
Correct Ans : D
Subject : Physics II

Q.No: 93 For Kepler's law the relation between the rotation ofthe planet (T) and their mean distances from the sun
2403916 () il b

FeR & AR faell a5 &1 gAY @ (T) AR 38 75 &1 97 & A gl & 7

T2 o 12
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T2 o 12

T o 12

T o 12

T?oc 13

T? 13

T3 o 12

T3 oc 12

Correct Ans : C

Subject : Physics II

24'\:)03599249 A steel (density p= 7.8 gm/cm®) ball drop in water tank (n= 85 x 10* Pascal-second) it
moves with terminal speed 10 cm/sec. If this ball drops in glycerin (p =1.2 gm/em?®, n = 132

Pascal-second), then the terminal speed of ball will be-

I Ul (= 8.5 x 107 UEhelfies) § 9 &F # il (Uokcd p= 7.8 AHTAF) &I
TR 9¢ 10 d#HIgHhs & d#FAd a1 § Joidl & o Foaada (p=1.2 WHGHE, n = 132
I d-%5) & SHET AT 39T 5|

6.25 = 10 cm/sec

A
6.25 = 10 JHI.
645 = 10* cm/sec
B
6.45 = 10 TATE.
1.5 = 107 cm/sec
C
15 = 107 F#HVE.
1.6 = 10~ cm/sec
D

1.6 = 107 IS,

Correct Ans : A

Subject : Physics II
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Q.No: 95

3403933 A small drop of water with surface tension o is squeezed between two clean glass plates so that a

thin layer of thickness d andarea A is formed between them. If the angle of conmtact is zero, the
force required to pull the plates apart is-

o U5 ded & T BIET A dg drd $T & wiel & " W § UF gder Wa d Aers 3R
A &1 & aTdr §. IfG T FHIOT FT AT AT g1 AT Sl Tl I Wit §g HaaE e
gre-

oA

d

Correct Ans : B

Subject : Physics II

Q.No: 96

5403935 If phase difference between twointerference wavesin Young's slit expenmentis ¢. Thenintensitv [ of at

point will be-

41 % gfafeee wanT # afy R g @ &1 cofasry aiei & Seic] ¢ & ot 39 fig |
diigar 1g0f-

[ =+/A? + B2 + 2ABcosé
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[ =+/A%?+ B? + 2ABcoso

[ = %cosd}
I = %cosd}
I =A {+Bcos %
I =A+ Bcos g
[ =A+Bcoso
[=A+Bcoso¢

Correct Ans : D

Subject : Physics 11

Q.No: 97
2404029

If both the mass and radius of the earth decrease by 2%, the value of acceleration due to

gravity will-

i qral &1 aegd= 3 Hm 2% &7 F fear A/ a7 T&cd g @l g & Al-

Decrease by 1%

1 9fo=a &9 @ ST

Increases by 2%

2 Ufa=Id §¢ SR

Decrease by 2%

2 YfI=Id 9 & SR

Remain unchanged

ufafda @

Correct Ans : B

Subject : Physics I1

Q.No: 98
2404030
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[f the value of gravitation acceleration ‘g’ on the earth surface (radius R). what is the height where

gravitational acceleration will be g?
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aﬁqﬁr(ﬁmma:aﬂwa;m«?ﬁwwg*%ﬁaghéaﬁgmﬁﬁvwgEﬂ?rr-

2R
A
2R
R
NF]
B
R
NEl
R
2
C
R
2
NEY-
D
NEY-

Correct Ans : A
Subject : Physics II

.No: 99 . .
2404031 The center of mass of a system of two particles of masses m; and m, is at a

distance a; from mass m; and at a distance a, from mass m; such that-

m; GEAHAE & FUT H a) GU Ud m; GedHAE & 0T § a, W HAT = &g
9 [ # geaAs Fog ge-

a _ M

a; my
A

a _ M

a my

dy My

ag (m, +m;)
B

ay Ml

a, (m, +m,)
C a,  m,

ag My
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ay my
az My
aq 4

ag (m, +m;)

Correct Ans : A
Subject : Physics 11

gi\&: 0130; Iftwo sphere of masses 2 kg and 5 kg are moving toward with velocity 5 m/s and 1 m/s respectively.
After strike they stick each other, velocity of combined sphere will be -

qfE ar M ToIeidh GedAT HAY 2 o 3R 5 fham & dor v gay &1 A 5 AdL qor
1 #y&. & 397 & 313 U IER e [ 1 &1 §gad Moy F1 997 gem-

7.14m/s
A

7.14 H1/4E.

0.714m/s
B

0.714 4.

71.4m/s
C

71.4#H74.

714 m/s
D

714 FH.

Correct Ans : B

Subject : Physics 11
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Exam PVFT-2021 v
Testdate 27-Nov-2021
TestSlot Shift 2 v

Submit
In the manufacture of quick line ,by of CaCO;, the gaseous CO; is allowed to
escape.

fFae o & =T A, cacos F GanT, AR CO, I folehetel GAT ST &

CaO0, combination

CaO, JaioH

CaOH, decomposition

CaOH, 3[UgcH

CaO0, decomposition

Cao, 3Uged

CaOH, combination

CaOH, TIi5H

Correct Ans : C

Subject : Chemistry

Q.No: 2
2406223

Choose correct options :

(i) Henry's law

(a) Co,(g)= Co, (in solutions)

(ii) Selubility

(b) H,0(l)= H,0(g)

(iii) vapourpressure | (¢) (sugar) solid & sugar (in solutions)

eI faehed Il
(i) =1 dr =7 ferare (a) Co,(g) = Co, (THATI )
(if) S[emTelierdr | (o H,0(1) = H,0(g)
Gi)aragE | (o) () ok et (G )
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A

(1) | (1) | (iiD)

a b ¢

(1) | (1) | (D)

(1) | (1) | (D)

B
(i) | (i) | (iii)
b c a
(1) | (1) | (111D
c b a
C
(1) | (1) | (11D
¢ b a
(i) | (1) | (iid)
b a c
D

(1) | (1) | (ii)

Correct Ans : A
Subject : Chemistry

Q.No: 3 In given equation
2406228

In given equation K [A][B] =K, [(][D] . choice correct statement regarding K, and K .

@i & K, [4][B]= K, [C][D] 9% Gér et F Gaw A K, 3K,

At constant temperature, K and K are constant.
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e A= 9T, K, 31K, g g

At constant temperature, K, is constant, K is variable.

[

B

B amAE |, K, R § K, Tiadaeio &1

At constant temperature, K, is constantbut K, is variable.
C

B aTa#nT oY, K, FEut & oifehet K, aRadereiier &

At constant temperature both K| and K, varies.
D

AT ar9e s WK, 3K, Searar @ars

Correct Ans : A
Subject : Chemistry

Q.No: 4 Exact representation of arrehenius equation is -

2406285
SRR riieRur o1 9w ufaffa & -
K ==Ae-FEa/KT
A
K==Ae-FEa/KT
t1z==0.693/k
B
t1z==0.693/k
k ==AEa/kT
C
k ==AEa/kT
t =2.303Klog [AOA]
D

=2303Klog [A0A]

Correct Ans : A
Subject : Chemistry

.No: 5 - - 1 - - - -
(224007253 A radioactive element has decay constant 6.93x10 *sec™' . Its life period in seconds is:
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ueh {2aradl doa o1 & Fadie 6.93x107 sec ! gdT &1 Yehs A ST Slids] Hlel g

90
A

90

200
B

200

100
C

100

125
D

125

Correct Ans : C

Subject : Chemistry

Q.No: 6 Choose the correct statements:

2407261

(i) o' ot =g, xe™ +, Sr™ +2,n' isnota nuclear fission reaction

IH&
(if) Tritium has a half-life of 12.5 yundergoing f -decay — ofa sample of pure tritium will
remain undecayed after 25y 4
(iii) The 7, , ; wUﬂgUndergoing a-decay is 4.5x10° y then 1.23x10" s is the activityof 1 g
o
238
sample of |, {J
RHERE! Eﬁ
@) 0 g u’ g xe ™+ S+ 2 0" T T AEs afafrar g g
, 1"
(i) fefeaa ramarsias 125 y&, Uy KRTAF 77 & - A YR TEE, 25y
ag, JTTRafd W@
(iii) £, & U TSR el a&RIH 4.5%10°y gar 1.23x10°s 7™ &1 gagm &1
afafafer g

only (i)
A

Fad (i)

Only (ii)
B

Had (ii)

Both (i) and (ii)
c

31 (i) 3R (i)

Both (ii) and (iii)
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——e g e ety
D

3T (i) 3R (iii)
Correct Ans : D

Subject : Chemistry

Q.No: 7 What are the total number of orbitals associated with n=1 and n=4?
2407417

n=1 3R n=4 I I3 e (FHerhl) B Hd TSAT FT 32

4,2
A
4,2
8,2
B
8,2
1,16
C
1,16
2, 16
D
2,16

Correct Ans : C

Subject : Chemistry

Q.No: 8  Choose correct statement with respect to orbital

2407423

sffdec(wed) & day T Te HuF I

Orbit and orbitals are synonymous
A

T 3R e Taiaard §

They have circular shape
B

7 NABR HHR & G 3

Characterised by set of three quantum numbers
C

T2 A wich vemel ¥ Jc I il ¥

Its possible to find exact location and velocity of an electron in an orbital.
D

TP Sifsed ¥ saae @ Iie R iR 37 &1 var e dua §1

Correct Ans : C

Subject : Chemistry
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34'\:)%1910 Depression of freezing point (ATE) forideal solution is directly proportional to
H1EEY TaereT & Tolv TR AT &l a8 (AT & AT BT 6
Molality
A
Hrear
Molarity
B
HieRar
Molecular volume
C
31U ST
Constant
D
faa

Correct Ans : A
Subject : Chemistry

Q.No: 10 Choose the correct option in reference with factors responsible for all the colligative properties:
2408115

I. Energy difference between solvent and solute

II. Difference in the entropy between the solvent and the solute

III. Difference the entropy between solvent in the solution and the pure solvent

Tt T ot & fore IRert sRe! & T & W6l fawed &1 999 S ¢
1. faar® SR facm & f9 o &1 SR

11. fyamas iR fadg & & T o SfaR

111. faerm & faare SR Y faare & o9 et § sfaR 3

Only II
A

Fad 11

Both I and III
B

I 3R 111 SFf

Only III
C

Fad 111

Both II and III
D

II 3R III SFf

Correct Ans : C
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Subject : Chemistry

Q.No: 11 determines the physical state of the in which the solution exists.
2408119

I Hifaew srawa &1 Mk w=ar & o faaas deg 8

Solute
A

fac

Solvent
B

facmas

Both Solute and Solvent
C

facr oiR faame QFf

Solute concentration
D

oo wigar
Correct Ans : B

Subject : Chemistry

(22;1'\(‘)%41228 The reduction potential at 25°C for Fe®*Fe?* electrode if the concentration of Fe*? jon is five times that
of Fe™? jon [EQ +3p+2 = 0.77 volt ]
Fe®* Fe?* JUIGCIS b [C1Y 25°C UR BHI &I T1G Fet2 3 B Higdl Fet?) 310 &1 Ul I §
EQ +3p +2 = 0.77 Alee]
0.7288 volt
A
0.7288 diT
0.9287 volt
B
0.9287 A
1.728 volt
C
1.728 A€
2.752 volt
D
2.752 9«

Correct Ans : A

Subject : Chemistry

Q.No: 13 Hexafluorocobaltate(III) ion is found to be high spin complex, the probable hybrid state of cobalt in it is -
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2408805

FHUISRY BaTeee (111) 3T I FhUl THd =T B Ul STl 81 T PldTee BT YA T g -

dZsp?
A

dZsp?

sp3
B

sp3

spid
C

spd

spid?
D

spid?

Correct Ans : D

Subject : Chemistry

Q.No: 14 Red phosphorus is less reactive than yellow phosphorus because-
2408940

o BREHRY, Ui BRGRY J &4 fharia g 8-

Its colour is red

A
ST T A1 Bhell &
It is highly polymerized
B
T = SEEHIPA §
It is tetratomic
C
T FHIHIT T
It is hard
D
TE POR 811 §

Correct Ans : B

Subject : Chemistry

Q.No: 15 In P,0,,. the number of oxygen atoms bonded to each phosphorus atom is —
2408941

PO, ¥ Ycdieh BREGIRE YLATL & el HieriTotel QRATILHT I H&m & -
A 2.5
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5
Correct Ans : C

Subject : Chemistry

Q.No: 16 Mixture used in Holme’s signal is -
2408942

2 R § fobg figyor &1 SuanT fan oirdr 82
CaC, and CaCl,

A
CaC, HR CaCly
CaCly and CazP3
B
CaCly 3R CasPy
CaC, and CazN»
C
CaC, R CasN;
CaC; and CazP;
D

CaC; 3 CazP;

Correct Ans : D

Subject : Chemistry

Q.No: 17 Which one of the following is the strongest oxidising agent?
2408968

Rufafad § @ S yeady iRfieRs § -

HCIO
A

HCIO
B HCIO,
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HCIO,

HC103
C

HCIO3

HCl0y4
D

HClOy4

Correct Ans : A
Subject : Chemistry

Q.No: 18 The coordination number of a central metal atom in a complex is determined by

2409043

T e T BT YT URATY ) SuwsHaie e Fufid gt & -

The number of ligands around a metal ion bonded by sigma and pi-bonds both
A

g S & °RT 3R Rewr 3R wrs-set & S ferost 1 dom @

The number of ligands around a metal ion bonded by pi-bonds
B

YIg S & IRI 3R UR-9Y gRT 3 Rriivet ot vem

The number of ligands around a metal ion bonded by coordinate bonds
C

UTg 3T & IRI 3R SUHAIe §Y gR1 S RiAve! 3t Jem 9

The number of only anionic ligands bonded to the metal ion
D

Fad BUTHS RAIVST P & § St Urg 3 J §RT 8ia &

Correct Ans : C

Subject : Chemistry

Q.No: 19 Which one of the following complexes in an outer orbitals complex?

2409044
frofifed Yodl & ¥ oI I5aq $aE 9P § ?
[Co(NH,),F*

A
[Co(NH,),}*

[Mn(CN), I

B
[Mn(CN),I*

C
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[Fe(CN), I

[Fe(CN),I™
[Ni(NH,),F**

[Ni(NH,),F**

Correct Ans : D

Subject : Chemistry

Q.No: 20 The "spin-only" magnetic moment [in units of Bohr magneton] of Ni¥* in aqueous solution would be (At.
2409052 1 N g

Niz+ 3T ST [aera F e F60 ¥4 A0 [a1 He & I H] 77 Z1-
(7.7 Ni = 28)

0

1.73

1.73

2.84

2.84
4.90

4.90

Correct Ans : C

Subject : Chemistry

Q.No: 21 The reaction

2409140 OH
(S Oar + 00, —r2ZE . (TS—CODHia

is called :

ATATHAT

OH
— 120°C =
{S>—0 Na* + COp —rsrmeraes @g—coo Na
EREICENCIEGER

A Elbs persulphate oxidation
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TesH RYbE IUTd

Kolbe reaction
B

Piedl Sfifoan

Reimer-Tiemann reaction
C

AIR-EH rfhifsear

Lederer—-Manasse reaction
D

ASR-AFR siffspar
Correct Ans : B

Subject : Chemistry

Q.No: 22 Sodium phenate on heating with CO5 under presssure gives mainly :
2409141

qIiEFH GiFe &1 37 2" 9L COy & @19 TLH L7 & e o712 FT 9447 2

o—hydroxybenzaldehyde

A
o- TRSRITOACSETS
o—hydroxybenzyl alcohol
B
o- BRI Tepleiel
o—hydroxybenzoic aicd
C
o- E‘I’ﬁ"mﬁﬁ% SRT
o—hydroxyphenol
D

o ST
Correct Ans : C
Subject : Chemistry

Q.No: 23 Which one of the following aldehyde will not form an aldol when treated with dilute NaOH :
2409181

9 # ¥ F ufssss 99 NaOH & 1Y foran &R Teeid =1et a:

CH,CHO
A

CH,CHO
B CH,CH,CHO
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CH,CH,CHO
(CH,),CCHO
C
(CH,),CCHO
C.H.CH,CHO
D
C.H.CH,CHO

Correct Ans : C

Subject : Chemistry

Q.No: 24 - A organic liquid which reduces tollen’s reagent gives one semicarbazone derivative in which
2409183 . . ..
36.47% Nitrogen is present. The liquid would be:

Ueh Thle-5d ST lolel JTHEHS &l TG00 FLaT ¢ | Ueh SHTRTaS 1o egcded aal 6| e
36.47% =ATS¢ISTe o &d B

CH,CHO

CH,CHO

CH,CH,CHO

CH,CH,CHO

CHB—EH —CHO
H

3

CH3—EH —CHO
H

3

CH,CH,CH,CHO

CH,CH,CH,CHO

Correct Ans : B

Subject : Chemistry

Q.No: 25 A mixture of the simplest members of alkanone and alkanal families is formed on ozonolysis of which of the following
2409205 compounds
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fafafed & 3 fog e & ie-3meed W YebH YT Yeb-d URAR P IReIdH Te&l BT {80 §T §

Propyne
A

Isobutylene
B

c-Butylene
C

o- ] oA

3-Pentaone
D

3-UeA
Correct Ans : B

Subject : Chemistry

Q.No: 26 Suicidal bags of the cells are -
2403468

PIfRrB1ail BT T A B-

Mitochondria

A

GIEECa I

Ribosomes
B

REE IR

Golgi body
C

et Hig

Lysosomes
D

wRErE

Correct Ans : D

Subject : Botany

Q.No: 27 Large numbers of mitochondria are present in -

2403469
Sfear Te § Agcieiigdn IR 81 8-
Amoeba

A
efiar

B Cells of green plant
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& Uil Bt SifRerel &
Oocytes of amphibians
C
IHTR & ST
Liver cells of rat
D

g @1 foraR PIRrpran #

Correct Ans : C

Subject : Botany

Q.No: 28 F1 particles are presents in-

2403470
F1 &0 § U1 STd 8-
Golgi body
A
et &
Mitochondria
B
AEcIPifgar §
Lysosomes
C
T
Nucleus
D
bodb |

Correct Ans : B

Subject : Botany

Q.No: 29 Organelles responsible for conversion of stored lipid molecules of germinating seeds into carbohydrates are-
2403472

sicpfial ish & Wl Riftre sruell &) Praferedes & sae & Ry Rrdar s 2-

Glyoxysomes

A
g SiladiE
Chloroplasts
B
FIRGERE
Golgybody
C
oSt ra
D Nucleus

https://mppeb.cbexams.com/MPPEB_LIVE_Nov_2021/MPPEB_Objections_Nov_admin_Panel_2021/Final_Model_Answer.aspx

15/48



1/12/22, 3:37 PM https://mppeb.cbexams.com/MPPEB_LIVE_Nov_2021/MPPEB_Objections_Nov_admin_Panel_2021/Final_Model_Answer.a...

5D

Correct Ans : A

Subject : Botany

Q.No: 30 Centrioles are present in -

2403476
Angiosperms
A
Tgsiteiy &
Prokaryotes
B
Wpfeice &
Animal cells
C
Sig PR d
Yeast
D
e |

Correct Ans : C

Subject : Botany

Q.No: 31 Which is the correct sequence in cell cycle?

2403489

HIRABT Th BT el HH 82

G1-G2-S-M
A

G1-G2-S-M

M-G1-G2-S
B

M-G1-G2-S

G1-S-G2-M
C

G1-S-G2-M

G2-G1-M-S
D

G2-G1-M-S

Correct Ans : C

Subject : Botany

Q.No: 32 Formation of dyads during meiosis occurs at -
2403490
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S fauTe @t 59 sraw g &1 fmfor gar-

Pachytene
A

RIS FATIRT

Zygotene
B

AR

Leptotene
C

ATLATEIRIT

Diplotene
D

feue smaen

Correct Ans : A
Subject : Botany

Q.No: 33 Astral mitosis is seen in -

2403492
T GG RavTor g &-
Higher plants cells only
A
I Uit Bt pifRpTal 7
Lower animal cells only
B
= sigeht ot SRkt #
Yeast cells
C
e Hifkiered &
Animal cells & some plant cells
D

g PRI tq o e ol dieff &
Correct Ans : D

Subject : Botany

Q.No: 34 Teichoic acid is present in cell wall of -
2403495

PP o BI JuRI I # F forwat ke fiuf # gt 8-

Fungi
A
Fad |
B Gram positive bacteria
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UM ¢ATHS Sitary] &

Gram negative bacteria
C

T BUMED Sitary] J

Plant cell wall
D

ey Hifkrer Ry &

Correct Ans : B

Subject : Botany

Q.No: 35 Which of the following is a recessive trait in garden pea?
2403498

7 & ¥ BH AR B IYM BT WA T&0T g2

Wrinkled seeds

A
gier &
Tall stem
B
KEKGE]
Round seeds
C
MR ol
Coloured seed coat
D

9 ®ag w14
Correct Ans : A

Subject : Botany

Q.No: 36 Gene with multiple effect are called-

2403500
SEUHTE S PEad 8-
Epistatic

A
Uderdl

Codominance

B
Hg-gudt
Transposons
C
D Pleiotropic
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CRERG]]

Correct Ans : D

Subject : Botany

Q.No: 37 Synthesis of DNA occurs through-
2403506

2. T, T IV Bl B-

Replication

A
oA & wrem 9
Transcription

B
3G & T
Translation

C
3aTeH & ATeEd
Transduction

D

IR & T
Correct Ans : A
Subject : Botany

Q.No: 38 A codon is-

2403507
TS Uge Tl 8-
Singlet
A
Uhdl
Doublet
B
few
Triplet
C
s
Quadruplet
D
ad

Correct Ans : C

Subject : Botany

Q.No: 39 Temin and Baltimore are associated with the discovery of -

2403509
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¢ T AR 59 3 @9 § Iefid §-

RNA synthesis

3R. T. T. AU

Reverse transcription

I SFE

Translation

Sfdlq
t-RNA

¢, 3R. T. T.
Correct Ans : B

Subject : Botany

Q.No: 40 Which of the following is commonly used as vector in genetic engineering.-
2403515

= & ¥ g uan ur: raifie et § age & wu # fHar S §-

pBR322
A
pBR322
Plasmodium
B
weHITSaH
Euglena
C
et
Anopheles
D
TAftpeis

Correct Ans : A
Subject : Botany

Q.No: 41 Mycoplasmas were discovered by -
2403516

HISHIITSHT P G o-

Jacob and Monad

ECERECR B
B Kohler and Milestein
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PIETR T AR

Nocard and Roux
C

iples Td AT

Watson and Crick
D

CARERCRE T
Correct Ans : C

Subject : Botany

Q.No: 42 Which of the following organism fix atmospheric nitrogen?
2403519

1 & @ HF-11 Sita IR A1ggior &1 RiGR0 RS0 HR g §-

Nostoc
A
AR
E.coli
B
4. Fierg
PPLO
C
dh.dt.ua. .
A. tumefaciens
D

T. iR
Correct Ans : A

Subject : Botany

Q.No: 43 In which order of gymnosperms, vessels are found?

2403525
forireas & e w0 & afger) ordt Sl &2
Taxales
A
SR
Gnetales
B
el
Coniferals
C
BB
D Ginkogales
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Rrpiten

Correct Ans : B

Subject : Botany

Q.No: 44 The smallest unit of classification is -
2403530

Hifeszur &) Tad B 3BTE 2-

Phylum

Order

Genus

ERy

Species

PG

Correct Ans : D

Subject : Botany

Q.No: 45 Phylloclade is the modification of -
2403531

UiHREY YR B-

Root

S P

Petiole

quigd &1

Stem

GEE:D|

Leaf

Uit BT

Correct Ans : C

Subject : Botany

Q.No: 46 In monocot leaves the guard cells are-
2403541
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T Sioua! Bt gREl # e SIS gt 8-

Oval

3SHR

Bean shaped

9 & PR &
Dumbbell shaped

TG P 3MHR P

Spherical

TABR

Correct Ans : C

Subject : Botany

Q.No: 47
2403542

Phellogen gives rise to -

el ¥ S §-

Xylem

EIEGE

Cork and secondary cortex

P T4 focllas aepe

Phloem

LILEH

Duramen

POR TS

Correct Ans : B

Subject : Botany

Q.No: 48
2403547
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et Had &) Bea 8-

Vivipary

SRSl

Soilless cultivation of plants
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e fad gy o
Cloning
C
gfasgor
Parthenocarpy
D
3P B

Correct Ans : B

Subject : Botany

Q.No: 49 Which cycle operates in photorespiration?
2403549

DT TG H HH-91 T Iadl 8-

Glycollate
A

TEHIIC TP

Hatch-Slake
B

TI-RP T

Krebs cycle
C

o TP

Calvin cycle
D

P 9P

Correct Ans : A

Subject : Botany

Q.No: 50 Enzymes are absent in-

2403566
TIH SFIURd et 8-
Moss
A
A
Bacteria
B
Sftarg &
Fungi
C
HaP o
D Viral particle
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faumy) Hor
Correct Ans : D

Subject : Botany

Q.No: 51 Who coined the term "chromosome
2403223

"TURE" X[eG &1 UfcTe foa faan

Wilhelm Von Waldeyer

A
faem 9 TS|
Walter Sutton
B
diecy Fed
Alexander Flemming
C
RIS FAHT
Charles Darwin
D

e STfd
Correct Ans : A
Subject : Zoology

Q.No: 52 In which phase chromosome is the thickest in cell division.
2403225

g =R T URE, HIRDT fausH & g 71 gt 81

S. phase
A

S AR

Metaphase
B

At

Anaphase
C

T

Telophase
D

EEEIE]

Correct Ans : B

Subject : Zoology

Q.No: 53 Who was the one from following has given genic balance theory of sex determination
2403227
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frfifad & § fega i ReRo o1 sl dqer Rigia fear B

Boveri
A

CIER

Calvin Bridges
B

i foret

Mendel
C

Hed

Moore Gordon
D

R T
Correct Ans : B

Subject : Zoology

Q.No: 54 On which plant sex determination was first studied
2403228

oA ugd e fpa Y o1 o Rufvor o1 sremee fan mar

Melandrium

A

Aafgem

Moringa oleifera
B

AR SiiefiteR

Dhatura
C

o

Mangefera Indica
D

AT SfEer
Correct Ans : A
Subject : Zoology

Q.No: 55 Which is the basic repeating units of a DNA structure.
2403235

ST W B W GRS T aret ga IH1eal o & B

Nucleotides

R ESRIGES]

B Protein

https://mppeb.cbexams.com/MPPEB_LIVE_Nov_2021/MPPEB_Objections_Nov_admin_Panel_2021/Final_Model_Answer.aspx

26/48



1/12/22, 3:37 PM https://mppeb.cbexams.com/MPPEB_LIVE_Nov_2021/MPPEB_Objections_Nov_admin_Panel_2021/Final_Model_Answer.a...

W

Amino acids
C

3T et

Nucleosiede
D

B ESRIGIES

Correct Ans : A

Subject : Zoology

Q.No: 56 Gerontolozy is the branch of science which deals with which one of the following
2403248

SRSl faw @t rar 3 @ fhed g6 71

Regeneration

A

LSEEE]

Embryo development
B

YOI &1 fapry

Neurological disordere
C

GIECANCEAN

Ageing
D

Shof

Correct Ans : D

Subject : Zoology

Q.No: 57 In India how the sex ratio is measured.

2403255
YR B AT 9 H1aT STl B
Number of females per 1000 males
A
&t 31 9@ ufd 1000 G A
Number of males per 1000 females
B
J&N! @1 T& ufa 1000 et o
Number of boys per 100 girls
C
ds@! Pt = ufd 100 TSfHal o
D Number of girls per 100 boys
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Fsfpal @t = Ul 100 TS H
Correct Ans : A

Subject : Zoology

Q.No: 58 Which vaccine was created first by recombinant DNA Technology.
2403258

ittt ST dd-ie! & gRT Gad UYT S I1 okl ST T

Adenovirus vaccine

A
TSR dFEie
Canarypox
B
EENPIEEEERI]
HPV vaccine
C
it die
Recombivax HB
D

Ypididad Taet
Correct Ans : D

Subject : Zoology

Q.No: 59 Hereditary disease can be cured by which technique.
2403260

T 7T BT b qob-iicp T 31 T S wabell B

Cloning
A

gfRsyoT (i)

Selectable Marker
B

TG AR

Micro injection
C

& S 490

Gene therapy
D

of fafesear

Correct Ans : D

Subject : Zoology

Q.No: 60 In which condition Bt toxin is converted into active form.
2403262
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g R €1 ciide 9fpy U & uRad= 8 9 g

Acidic pH
A
3t dae
Neutral pH
B
eSS
High salt concentration
C
I THS Higdl
Alkaline pH
D
&g diea

Correct Ans : D

Subject : Zoology

Q.No: 61 What is the reason behind large holes in swiss cheese.
2403268

g 99 # o2 93 ¥ o 3d § 39 US &F W SR 3|

Nitrogen Production

A
RGO IqUTE
Carbon-dioxide Production
B
BT SEHPUES IqUIG
Hydrogen Production
C
TIRSISH AU
Sulphur dioxide production
D

AR SEHPUES IquIe
Correct Ans : B

Subject : Zoology

Q.No: 62 Yogurt is made from which microorganism.

2403271

35! fpg gereiia § a1 B

Sacchromyceses cerevisiae and clostridium
A

P aR WY R Farifean
B Lacto bacillus bulgaricus and clostridium
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AT FAIRSE SR Fargiisan

Streptococcus thermophilus and clostridium
C

Resey vy ok Fardifean

Lactobacillus bulgaricus and streptococcus thermophillus
D

AR FATRSY iR RCHey RAfrad
Correct Ans : D

Subject : Zoology

Q.No: 63 Which microorganism is used to produce biofertilizer for soybean crop
2403276

TR B B & I A IRS FT IAG T & oY b geaoia &1 yanT faan s g1

Cyanobacteria

A
e g Jarer
Rhizobium japonicum
B
ST SafReH
Rhizobium leguminosarum
C
SR RHRRA
Rhizobium Meliloti
D

JTgeifegH Aferaret

Correct Ans : B

Subject : Zoology

Q.No: 64 Reasring of bees for collecting honey and wax is known as
2403283

AYHRI BT YT HY 3R HH Bl S5 B P (¢ fbar Sl € 38 o1 $8d g

Sericulture

A
T PR
Lac culture
B
R Dok
Pearl culture
C
o HeeR
D Apiculture
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Tt HeR

Correct Ans : D

Subject : Zoology

Q.No: 65 Where does the sexual stages of plasmodium gets completed.

2403288
ISR &1 YRS WS Hal I grl g
Liver of human
A
= T
Salivary glands of mosquito
B
HesR $1 AR U
Mosquito's Gut
C
AR Bt Sifd
RBC's of human
D

A9 AT Tad BIRIBIY

Correct Ans : C

Subject : Zoology

Q.No: 66 1In which stage plasmodium enters human body.
2403289

eHISEH g e # A9 TR § U3 o Bl

Merozoites
A

G

Cryptozoites
B

freioiscy

Gametocytes
C

kkecd

Sporozoites
D

[EEIE]

Correct Ans : D

Subject : Zoology

Q.No: 67 1In the following options which is not a type of sexually transmitted disease.
2403292
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Ffafed el & ®H w1 99 weid 17 78 31

HIV
A
Tt
AIDS
B
LS
Hepatitis-B
C
Fhersfew-t
Tuberculosis
D

e

Correct Ans : D

Subject : Zoology

Q.No: 68 Release of Bile juice from Gall bladder is controlled by which hormone.
2403295

= 31 A ¥ frd W &1 Feer 59 g8H gRT Fafia 2

Gastrin
A
Uil
Somatostatin
B
R
Enterogastrone
C
TR
Cholecystokinin
D

DIACIBIZ

Correct Ans : D

Subject : Zoology

Q.No: 69 For the protection of Heart which membrane is responsible.

2403317
TSI B PR&T F U oI 1 Rreeht Savard 7
Polycardium

A
DTS

B Epicardium
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LiEEaIRRE ]

Myocardium
C

i Ca IR

Pericardium
D

Wiefdaq

Correct Ans : D

Subject : Zoology

Q.No: 70  What is the term used for acute chest pain.
2403319

Bl H A < & o 6w wreg &1 v fobam e B

Cardiac arrest

A
PSTD IRE
Heart attack
B
T T
Hypertension
C
LI
Angina Pectoris
D

TSI Yy
Correct Ans : D

Subject : Zoology

Q.No: 71 Which disease is cause due to accumulation of uric acid in bone joints.
2403337

TS & Siel § ghe TS de1 ¥ 3 @ JER g 7

Ricket
A

e

Gout
B

M3c

Osteoporosis
C

IR
D Osteopenia
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e s
Correct Ans : B

Subject : Zoology

Q.No: 72 What is the clinical term called when there is low supply of oxygen to tissue
2403597

IS FHddw # SHfpior BT Mgff F7 St § TS A1 Weg R 7

Asthma
A
qHT
Bronchitis
B
sipigfed
Hypoxia
C
GELIESD]
Pulmonary fibrosis
D

THRAT WIS

Correct Ans : C

Subject : Zoology

Q.No: 73 In sponges canal system is developed due to

2403610
W B R YoIeht forerds T iy g1t 71
Respiration
A
<qe ufshar
Reproduction
B
ESEE]
Folding of inner walls.
C
ot FuRRrdt &1 e @
Lining with mesoderm
D

AOeH & 1Y W g1

Correct Ans : C

Subject : Zoology

Q.No: 74
2403611
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Respiratory disorder in which respiratory surface decreases due to damage of alveolar walls and is normally causes by
smoking is

g et fAeR s argeRia Rt @t &fd & SR XawH 1 9dg HH 81 91l § R AR W YHUH & HRU 98 SR I
Fac W RGR A A Fede |

Asphyxia

TANERY

Emphysema

qaEpifa

Asthma

<HI

Bronchitis

TEEHIRY

Correct Ans : B

Subject : Zoology

Q.No: 75 Snake belongs to which group?

2410295
9Ty ford 1 &1 o § ?
Reptilian

A e

B Amphibia

C Annelids
Mammals

D YR

Correct Ans : A

Subject : Zoology

Q.No: 76 A piece of copper and another of germanium are cooled from room temperature to 80K. The resistance of-
2403817

TH THST daT 3R GURT ¢HST T 1T B THAY HIR & a9 80K d% ST o orar §, o ufekiy &1 7H-

Each of them increase

T BT T

Each of them decrease

ST BT g

https://mppeb.cbexams.com/MPPEB_LIVE_Nov_2021/MPPEB_Objections_Nov_admin_Panel_2021/Final_Model_Answer.aspx 35/48



1/12/22, 3:37 PM https://mppeb.cbexams.com/MPPEB_LIVE_Nov_2021/MPPEB_Objections_Nov_admin_Panel_2021/Final_Model_Answer.a...

C Copper increases and that of germanium decreases

afe &1 97 3R SHEH &1 g

Copper decreases and that of germanium increases

i &1 g 3R ST $T F @
Correct Ans : D

Subject : Physics II

Q.No: 77 Tha reason of scattering of Alfa (a) particle from nuclear is-
2403826

OB (o) HOT & Tl dfdies & whifvia gl &1 HRoT &

Gravitational force

A
TEQHY
Nuclear force
B
TS S
Columb force
(o
T 94
Magnetic force
D

ECCAUEK
Correct Ans : C

Subject : Physics II

Q.No: 78 The activity of a radioactive sample is 1.6 curie and its half-life is 2.5 days. Its activity after 10 days will be-
2403828

Yo wfepn T Bt Aihadr 1.6 T § 3R 3BT LIHGHIA 2.5 37 & A 10 &7 a1 39! Gt giit-

0.8 curie
A

0.8 T

0.4 curie
B

0.4 T

0.1 curie
(o

0.1 F&
D 0.16 curie
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0.16 &g

Correct Ans : C

Subject : Physics II

Q.No: 79 A telescope has 80 cm lengths and magnifying power is 19. It’s eye lenses focal length will be:
2403858

TH g2 B dars 80 I SR aef emrar 19 1 SUB! ARHT B BiHT g BT TH ©-

4 cm
A

4 i

6 cm
B

6 It

8 cm
C

8 ait

10 cm
D

10 9

Correct Ans : A

Subject : Physics II

Q.No: 80 Figure shows current in part of an electrical circuit. Find the value of current I.

2403868
NeA
A

k 4
Q

feerTaR fagygd uftuy & faggd 4rT & yrl & femar mar R o faggd uRT I &1 7 I1d B%-

\.E\A . A 3
An N

R

2.7A
A

2.7A

3.7A
B

3.7A
C 1.5A
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1.5A

1.7A

1.7A

Correct Ans : D

Subject : Physics II

Q-No: 81 Simple harmonic motion is given by the equation x = 3 sin 3mt + 4 cos 3ntt, where x is in
2403871 meters. The amplitude of motion is.
Ush T Had ITd &7 TGHIEHOT AT 797 8- x = 3sin 3wt + 4 cos3nt, BT x Hlex &
&, ar TIfg &1 3TAHE -
3m
A
3 Hix
4 m
B
4 fiex
5m
C
5 Hiex
7m
D
7 HieR

Correct Ans : C

Subject : Physics II

Q.No: 82 A 100 gram water cool down from 100°C to 50°C it will release heat of-
2403879

100 AMA STef 100°C ¥ 50°C A 35T Blet & FSAT Had FHLaT-

4000 calorie
A

4000 FaRY

5000 calorie
B

5000 SRt

6000 calorie
C

6000 Hart
D 7000 calorie
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7000 FHaAR
Correct Ans : B

Subject : Physics II

24%388833 On Celsius scale the value of absolute zero is -273.15°C on Forchite scale the value
of absolute zero will be-
fewad Ghol 9 G 0 T AT 273.15C §1 BRESE Thel G A e &l AT
B
-273.15°F
A
-273.15°F
-45967°F
B
-45967°F
-453.15°F
C
-453.15°F
-49167°F
D
-49167°F

Correct Ans : B

Subject : Physics II

Q.No: 84 Number of significant digits in 6.0040-

2403887
6.0040 & Trefes 37T P} T B-
1
A
1
a4
B
a4
5
C
5
D 2
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2

Correct Ans : C

Subject : Physics II

24'\303:88951 Find the angle between vector A=i+ j and A=1— |

gigra=i+jaTa=1- |F a9 7 For 79 F-

90°
A
90°
|Dl}
B
00
450
C
450
60°
D
60°

Correct Ans : A
Subject : Physics II

Q.No: 86 Displacement of a person moving from A to B along semicircular path of radius R is 200 m. How much distance has he
2403894 overed?

R 1 & SHqaIeR U9 TR A ¥ B $F 3R I a1 afad &1 fawmaT 200 Her 31 39 fhat gt 99 o1 82

A 314 m
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314 #i.

200 m

200 #t.

157 m

157 #t.

3.14 m

3.14 4.

Correct Ans : A
Subject : Physics II

Q.No: 87 The dimension of stress is-

2403921
yfdee &1 oy g -
Y e R

A
M~1p2T2
ML-1T2

B
ML~1T—2
M~1p -2

C
M~1p -2
ML2T1

D
ML~2T-1

Correct Ans : B

Subject : Physics II

Q.No: 88 The unit of strain is-

2403936
fapf &1 o 8-
cm

A
it

B
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N/M2
gcA/HR
C
No unit
D
HIg AED ol

Correct Ans : D

Subject : Physics II

Q.No: 89 Total electric field flux emerge by unit positive charge placed in air will be-
2403962

I H A Ushiep v MY A FAeve arat Tquf faggd wee &1 9 §-
ED

4TE,

41 €,

41 g,

Correct Ans : B

Subject : Physics II

Q.No: 90 What is useless for a fuse?
2403963

TP WS $ ) Aeae 8-

https://mppeb.cbexams.com/MPPEB_LIVE_Nov_2021/MPPEB_Objections_Nov_admin_Panel_2021/Final_Model_Answer.aspx 42/48



1/12/22, 3:37 PM https://mppeb.cbexams.com/MPPEB_LIVE_Nov_2021/MPPEB_Objections_Nov_admin_Panel_2021/Final_Model_Answer.a...

A It specific resistance
9o fafkre ufery
Its radius
B
Tut frsar
Its length
C
TP ol

Current flow in it

9 yaifed 8 arelt 4Rt

Correct Ans : C

Subject : Physics II

Q.No: 91 Acting force F = —Fk workonan origin point o will make a torque at refer
2403978 . .
point (1-1) will be-

Ue 7 fig o WHRRA F = —F k &1 &g (1.-1) F IRa: Fer 3meof ghm-

—F(i+ 1)
A

~Fi+ 1)

F(i + )
B

F(i + )

—F(i— )
c

~F(i— )

FG— 1)
D

Fi— 1)

Correct Ans : B

Subject : Physics II

Q.No: 92 Moment of inertia depend upon-
2403980
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Sred ofguf FHR B 8-
Mass
A
SHHM WX
Mass distribution
B
oA faaRor R
Angular velocity
C
PG IT W
Position of rotational axis and distribution of mass
D

o i Bt R ur e faaRor

Correct Ans : D

Subject : Physics II

Q.No: 93 In S.I. system the value of gravitational constant G is-
2404009

S.1. UG # Qs fRdis G &1 A g-
6.67 = 10-11 N-m?/kg?

A
6.67 = 10-11 "_"Fﬂ-ﬁ::mﬁ
0.667 = 10-11 N-m?/kg?

B
0.667 x 1011 =ea-# faran?
66.7 x 10-11 N-m*/kg?

C
66.7 = 10-11 F‘Jﬁ—ﬂ’r—’,m—’
667 = 10-11 N-m?/kg?

D

667 x 10-1! s+ fram?

Correct Ans : A

Subject : Physics II

QNo: 94 1 the surface tension of soap solution is 'c’, what is the work done in blowing soap bubble of
2404032 . - o

radius r?

e §g & =i & 956 add o’ §, df aEd & r B & gege aaw A R & g
A
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Correct Ans : D

Subject : Physics II

Q.No: 95 Identical 27 water drops having same charge. If these drops make a big drop after collision, then the capacity of big
2404034 drop will be how much time of small drop?

A B THIAM 27 el R IOH A g1 I 37 T B AaeR e a9t 4 o < o @ 9t g ot yrPar, a1 g Bt aifar
feperit 71 g1 St

27 times

27 T

3 times

37T

4 times

47T

5 times

CRIGH
Correct Ans : B

Subject : Physics II

Q.No: 96 Lenz’s law is depend upon-
2404036

A~ 1 fraw R v B

A Conservation of energy
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Sl WE P I )
Conservation of momentum
B
T TR F Figw W
Conservation of mass
C
SO WU & FEH W
Conservation of charge
D

A W & Fga w®

Correct Ans : A

Subject : Physics II

Q.No: 97 How much energy will store to flow 2 ampere current in 50H self-inductance coil.

2404037
WIRGE 50 TR B! HUSAH & YRT 2 TURR aied A & ¢ foa=it Soit dfrd gii-
100
A
100
150
B
150
501
C
503
253
D
253

Correct Ans : A
Subject : Physics II

gi\gzoasl The focal length of two lenses is f; and f; respectivelv. After combination of these combined then
focal length F will be-
Ife a1 oAl & Bk gt HA £ £ & R FASF § 9o adia | F wlew gl F En
ar-
F == fl + f2
A
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B

F=f xf,
F=f xf,
F=f1x fz
fy+f;
F=f1x fz
fy+ f;
1:‘,=f1+f2
fy xf;
_ i +f;
i xf,

Correct Ans : C

Subject : Physics II

Q.No: 99
2404087

Sodium light have wavelength of 5890 A. What will be its frequency? (c=3 %108 m/s)

ST werer &1 aEeed 5890 A §1 ST Hidfed AT HITAT- (o= 3 x 108 FiRY)

5.8 x 1019 Hertz

5.8 x 1010 g&=1

5.09 = 10" Hentz

5.09 x 1014 5&

3= 1012 Hertz

5 % 1012 &

5.09 < 10 Hertz

5.09 x 101 gé&=r

Correct Ans : B

Subject : Physics II

Q.No: 100
2404117
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NOT I 9 10100, [Ee=er oy = W =9 e g

010113
A

01011z

10100,
B

10100,

00101,
C

00101;

10101,
D

10101,

Correct Ans : A

Subject : Physics II
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